PLASTIC DISPENSER ASSORTMENTS

PARTS LISTING
(POLYPROPYLENE BOX - 11" X 6-3/4" X 1-3/4™)
N\ R\\fﬁ FOR DETAILS ON ALL W&E PLASTIC DISPENSER
ASSORTMENTS SEE PAGES-160 AND 161
PD-121 PD-122 PD-123
PARTS LISTING PARTS LISTING PARTS LISTING
2361 2104 1205 2140 gg‘l’g 232%
2366 2399 2224 1225
2405 2216 2105 2512 gg%_},’ gggg
2902 2420 2286 2204 5040 5055
2388 2438 2643 2347 5047 5967
2398 2223 1223 2107
PD-126
PD-124 PD-125 PARTS LISTING
PARTS LISTING PARTS LISTING %g; iggi
5902 5924 625 2226 2123 5480
5903 5925 671 2227 5452 2688
5908 5931 672 2484
5917 5941 2222 2193
5920 5948 2259 2322 PD-129
5922 5961 2225 2423
PARTS LISTING
2278 2236
_ _ 2379 2339
PD-127 PD-128 7192 raos
PARTS LISTING PARTS LISTING %ig; g;z
2366 2893 2211 2374 2491 2502
2370 2492 2248 2473
2375 2523 2381 2494 PD-132
2379 2493 2236 2502
2416 2495 2503 2387 ZIEQRTS LISTH\;}B
2417 2496 2277 2440 2702 2724
2722 2725
PD-130 PD-131
PD-133
PARTS LISTING PARTS LISTING
2236 2478 194 2057 PARTS LISTING
2339 2491 194NA 2057NA 3035 3108
2503 2548 1156 3057 3036 3276
2373 2549 1156NA 3057NA 3042 3279
2379 2374 1157 3157 3043 3280
2475 2502 1157NA 3157NA 3044 3282
3049 3286
W&E SALES CO., INC. THE W&E LINE 159




PLASTIC DISPENSER ASSORTMENTS
(PLASTIC BOX-11" X 6-3/4"X 1-3/4")

| PD-121 PD-122
-
PLASTIC DRIVE RIVET / EXPANSION AESTICCHBIDTE S TREE A0
1205 2224 2643 1223
2902
D
{ RETAINER
EXPANSION :
& EXPANSION PLASTIC SCREW RETAINER- RETAINER- PLASTIC SHIELD | UNIVERSAL TRIM
INNCRELRE SCREW RIVET RIVET- NYLON PUSH PLASTICDRIVE DOORTRIMPANEL| o~ | INTERIOR DOOR CONDUIT TO & PANEL CLIP
SHIELD PANEL RETAINER | FASCIA/GRILLE VET- DRIVE RIVET- RIVET FASTENER INNER PANEL TRIM PANEL SHEETMETALIN | om g UNIVERSAL | UPPER GRILLE-
NISSAN & 6 MM HOLE; 6 MM HOLE WHEEL OPENING, | BUMPER FASCIA | §.3 MM HOLE SIZE NY| 3 ASTENER NYLON, DOORS (LONGER THAN 114" HOLE SIZE
UNIVERSAL 15.2 MM FLANGE DIAMETER; COWL VENT GENERAL USE GM, FORD, AMC & GM PRODUCTS- Fi AMC, GM, FORD, NYLON, GM
i g p p WAE #2140) CHRYSLER
TOYOTA FORD-85& UP | FORD, SATURN GM, FORD CHRYSLER "718UP LA CHRYS., VW “C” BODY
2104 2399 2216 2420 2438 2223 2140 1225 2512 2204 2107
PLAST! -
PLASTIC RIVET- PLASTIC RIVET- e INTERIOR TRIM
GRILLE TO PLASTIC DRIVE MUD SKIRT PUSH TYPE FRONT & REAR SCREW NAIL CLIP- BLACK
HEADLAMP RIVET ATTACHING, P L BUMPER RETAINER- SCREW NAIL 7MM HOLE;
BRACKET 8 MM HOLE SIZE OTHER USES _ | PUSH TYPE RIVET- RIVET ATTACHING STRIP BLACK RETAINER PANEL FASTENER- 20MM HEAD INTERIOR TRIM
114"HOLE- FORD & W FORDK ALSO GM “X" &“F" [ BMMHOLESIZE | o o yici e sioe | 1/8” SHOULDER- 1/4” HOLE BLACK DOOR PANEL CLIP | RADIATOR SKIRT | 30MM GRIP RANGE RETAINER
UNIVERSAL BUELy GARS-'B1EUB GM, FORD GM, '87 &UP GM- ‘81 & UP GM, CHRYSLER, GM, AMC & BUMPER STRIP ATTACHING GM, FORD & GM & UNIVERSAL
FORD, AMC UNIVERSAL GM-'80 & UP CADILLAC & GM UNIVERSAL

METRIC BODY BOLT METRIC SPEED, "KEPS" NUT & RETAINER
ASSORTMENT ASSORTMENT
5921 5923 5940 5947 5902 5903 5908 5917 5922
b | e | | 0
g Yy " ¥
J b 6 MM X 20 MM BODY & MM NUT WITH
8 MM x 25 MM 6 MM X 25 MM BODY | 6 MM X 20 MM BODY FREE SPINNING
BODY BOLT & MM X 30 MM BODY | 6 MM X 25 MM BODY [ BOLT INDENTED BOLT INDENTED HEX & MM NUT WITH MM & MM METRIC 16MM TOOTHED
HEX WASHER BOLTINDENTED | BOLT INDENTED HEX HEAD INDENTED HEX - 1;‘;%10055 & MM METRIC S MM LONG PREE SPINNING PUSHNUT 'SPEED NUT " WASHER
HEA e T HEX HEAD pER e WAT MM LSE WaHE g FOLDOVERNUT | THROATMETRIC | 24MMWASHER | BOLTRETAINER GM- ‘79 & UP 10 MM HEX,
17 MM W/ 24MM LSE WSHR | W/ 24MM LSE WSHR CA POINT WITH LOOSE WASHER o FORD & FOLDOVER NUT PHOS & OIL 16 MM OUTSIDE FORD & PHOS & OIL
WASHER 0.D. CA POINT (SMALLER WASHER WASHER CA POINT , 778 UP 10 UNIVERSAL VW, GN-79 & UP
CA POINT UNIVERSAL = 3 GM- 77 & UP DIAMETER A
GM & UNIVERSAL- | Gy g UNIVERSAL | GM & UNIVERSAL THAN 5921) DOG POINT GM & UNIVERSAL UNIVERSAL
" up
5931 5941 5948 5961
5962 5963 5984 5967 5924 5925
o A
0 e (e S <)
(18 el 4 9 ()] &2
= 6 MM NUT
6 MM X 28 MM 6X 35 MM 6X 22 MM 6 MM X 20 MM WITH FREE
BODY BOLT BODY BOLT BODY BOLT 81.25X30MMHEX | §MMX35MM | HEX WASHER HEAD ETRIC 8 MM 8 MM SPINNING 6MM
INDENTED HEX INDENTED HEX IND. HEX HEAD WASHERHEAD BODYBOLT | BODY BOLT-CAPT Pl PUSH NUT HEX FLANGE NUT 6 MM 19MM WASHER PUSH NUT
HEAD (8 MM HEX) HEAD 19 MM (3/4") WSHR | BODY BOLT- HIDENTED HEX 10 MM HEX, LR ROAT | BOLTRETAINER | CHRYSLER,GM& | HEXFLANGE NUT 10 MM HEX, BOLT RETAINER
WITH 19 MM LOOSE | 17 MM WASHER DOG POINT GA POINT. HEAD WITH 24 MM | 13 MM WASHER Mo & GARS | 24 MM OUTSIDE UNIVERSAL 10 MM HEX PHOS & OIL 17 MM OUTSIDE
WASHER CA POINT CA POINT FORD, CHRYSLER & | (13MMHEX; 17MM | LOOSE WASHER | GM & UNIVERSAL " SAL DIAMETER BLACK SERRATED- BLACK | GM & CHRYSLER DIAMETER
FORD GM & UNIVERSAL UNIVERSAL WASHER) CA POINT-BLACK 77 & UP & UNIVER
BLACK GM AND UNIVER-
PD-125 PD-126
SPECIAL AUTOBODY SHEET METAL SCREWS SPECIAL AUTOMOTIVE RIVETS
ASSORTMENT ASSORTMENT
625 @ 671 672 [ 2222 2259 2225 2121 2121 2122 2122 2123 2452
#8X 3/8" SCREW g 9” W “_—’3)' = “':3) M%f _—
#8X 3/8" (#6 HEAD) 520X 3/8" FOR ATTACHING #8x112" SUPER-SPLIT SUPER-SPLIT
(3/8" WASHER (7/32" HEAD) WINDSHIELD & | (3/8" WSHR DIAM.) SUJIENRDSO';:'T suv':ﬁfng’;';” “GLASS STOP “GLASS STOP SUPER-SPLIT
DIAMETER) PHILLIPSFLATHD | REARWINDOW | = PHILLIPS OVAL 42X12MM PHRLIPS FLAT RIVET RIVET OUTSIDEDOOR | DOOR HANDLE
- REGULATOR RIVET | REGULATOR RIVET iy RIV
PHILLIPSOVAL | SCREW-PLATED |REVEALMOULDING| WASHER HD (B X112") WASHER HD. uL % 114 iAW 114 DiAM HANDLE RIVET. I
WASHERHD | USEWITHPLASTIC | CLIPS (LOWPRO- | SELF DRILLING 26/64" WASHER : 1/4” DIAMETER 1/4" DIAMETER A A 1/4” DIAM, PEEL TYPE-
« - ( SCREW-POZIDRIVE -30-140 GRIP 30-140GRIP  [-52-59 GRIP RANGE | .52-59 GRIPRANGE | 714/ A% 1k DIAMETER
SELFTAPPING | MOULDING CLIPS, FILE HEAD) SCREW-PLATED DIAMETER) "4 2MM X 10MM e S0 140GRIP |22 57251 HOLE 5e7-201 HOLE | 090~
SCREW-PLATED |  LANDAU CLIPS CHRYSLER& | WHEELOPENING | PHILLIPS OVAL 257~ 267-. 267-.261 HOLE .90-125 GRIP
GM & UNIVERSAL REQUIRED REQUIRED REQUIRED REQUIRED
WHEEL OPENING (W8E #345) UNIVERSAL- | MOULDING SCREW |  WASHER HD (716" WASHER - ReauiRer REQUIREL FORD, CHRYSLER- | FORD. CHRYBLER- REQUIRED ZNG & BLACK
UNIVERSAL | SCREW-CHROME , FORD, , FORD, g g FORD,LINCOLN/ PHOS.
MOULDING SCREW | UNIVERSAL BRIGHT GM & UNIVER! BLACK oo FORD, b | cHro FORD: up 7e8.0P 788 UP FORD.LINGOLN PHOS.
2226 2227 2484 2198 2822 2321 2330 2353 2354 2480 2688
1/8” ALL ALUMINUM
PHILLIPS FLAT .
WASHERHEAD | FHILLIPS ROUND 4.2X20 MM 4.2-1.41x20MM 4.21.41X 20MM 6.3X20MM 5152° ALUMINUM 316" RIVET NOSorD
SCREW SCREW PHILLIPS OVAL | UNSLOTTED-IND. (#8X3/4") HEX WASHER HEAD RIVET/ 3116” RIVET SACIIIJ-FI;L;J&%UTMO e RAIL
4.2MM X 20MM- 4.2MM X 13MM- HEAD SEMS HEX HD UNSLOTTED HEX SCREW STEEL MANDREL 114" RIVET 114 RIVET GRILLE RETAINING SILL 318" FLANGE
POZIDRIVE fritditol SCREWS SCREW WITH HDSCREW | WITH 16MM LOOSE GOUNTERSUNK 12 FLANGE BUMPER B2 GRIP g 18" FLANGE
anewasrer) | FORIRIE FLUSH TYPE 16MMLSEWSHR | (12MM LOOSE WASHER FORD ETEEL ASSEMBLY (LARGEFLANGE. | 078;236¢ IAMETER
GM & UNIVERSAL- | (2T HESHE WASHER-SELF TMM HEX) WASHER) (10MM HEX) GM TRUNK LOGK- SUMPERRVET | .125.260° GRIP 9167) rorpotACK | oo | ez
UNIVERSAL-BLACK DRILLING GM & UNIVERSAL GM- BLACK PRODUGTS. SEALED END YELLOW BLACK PHOS. BLACK PHOS. B UP FORD-"89 4 UP
SWIVEL EMBLEM | ZINC DICHROMATE |  FORD-'81 & UP FORD-79 & UP BLACK

160 W&E SALES CO., INC. THE W&E LINE




